
UE041−4A_1

log [∆L,  ∆a L, ∆b L ]
3 difference thresholds

Lg=60cd/m2
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Exp.: WDS_WS,TM,BY
09 5s 
average

F=A3+A1*L A2

data & P−A3−fit
A1    A2    A3      ∆

0.01 0.713 0.037 0.001
0.007 0.857 0.036 0.0
0.007 0.676 0.016 0.0



UE041−4A_2

log [L/∆L, L/(∆a L), L/(∆b L) ]
3 sensitivity thresholds
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experiments:

Exp.: WDS_WS,TM,BY
09 5s 
average

F=A3+A1*L A2

data & P−A3−fit
A1    A2    A3      ∆

0.01 0.713 0.037 0.001
0.007 0.857 0.036 0.0
0.007 0.676 0.016 0.0



UE041−4A_3

L/∆L, L/(∆a L), L/(∆b L)
3 sensitivity thresholds

Lg=60cd/m2

−3 −2 −1   0   1   2
  0

100

200

300

400

x=logL

x y
A 0,32 0,36
experiments:

Exp.: WDS_WS,TM,BY
09 5s 
average

F=A3+A1*L A2

data & P−A3−fit
A1    A2    A3      ∆

0.01 0.713 0.037 0.001
0.007 0.857 0.036 0.0
0.007 0.676 0.016 0.0


